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Exﬁgﬂlg

Verona Pizza is a small neighborhood pizzeria that has a small area for in-store

dining as well offering takeout and free home delivery services. The pizzeria's owner

has determined that the shop has two major cost drivers—the number of pizzas sold

and the number of deliveries made. Data concerning the pizzeria's costs appear

below:
Fixed Cost ~Costper Cost per

Pizza ingredients.......... $4.20

Kiohonolall. . ... ohosaiin $5,870

(b R $590 $0.10
Deliveryperson ........... $2.90
Delivery vehicle . .......... $610 $1.30
Equipment depreciation. . . . . $384

R R T AT i $1,790
Miscellaneous............ $710 $0.05

In October, the pizzeria budgeted for 1,500 pizzas at an average selling price of $13.00 per
pizza and for 200 deliveries.

Data concerning the pizzeria's operations in October appear below:

Actual Results
PIEER: = oo v s oimisiitaasiels aiin 1,600
B e R R A S 180
5 e T $21,340
Pizza ingredients. ............ $6,850
L $5,810
P e $875
DRRVECY DO . o ainteia e n $622
Delivery vehicle.............. $982
Equipment depreciation. ....... $384
Bl e s $1,790
Miscellaneous. .............. $778

Required:

1. Prepare a flexible budget performance report that shows both activity variances and revenue

and spending variances for the pizzeria for October.

2. Explain the activity variances.
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Ac+iv.'+7 Variance = Flexible Btht"' - Siadic Plavm.'»a @ué?g}(’
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Accounting for Direct Materials Price and Quantity Variances

As a general rule, in a standard costing system, all inventories are carried at standard. Actual
costs are never entered into an inventory account. Following this general rule means that the
direct materials price variance is computed at the point of purchase. In recording variances,
unfavorable variances are always debits, and favorable variances are always credits. The
general form of the journal entry associated with the purchase of direct materials for a
standard costing system follows. This entry assumes an unfavorable MPV and that AQ is

defined as direct materials purchased. e u\a.vv\'\kq Vacian et
Materials SP x AQP wt? Sfxsa
Direct Materials Price Variance (AP - SP)AQ DM 1“’-“":\‘1 Varianw S (A%-50)
Accounts Payable AP x AQ Matecicls St AR
U\‘& o N\L

Accounting for the Direct Labor Rate and Efficiency Variances

The journal entry to record the direct labor rate and efficiency variance is made simultaneously.
The general form of this journal entry follows. (It assumes a favorable direct labor rate variance
and an unfavorable direct labor efficiency variance.)

Work in Process SH x SR
Direct Labor Efficiency Variance (AH - SH)SR
Direct Labor Rate Variance (AR - SR)AH

Wages Payable AH x AR
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